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(1) MERT—EX
ON==0r
ETER HE 2ok | 206K | somE | mem | omm | PASE
BikfE=E FIREH 287 317 316 317 284 260
DHHA 1| FR BSR4 4,713 4,919 4,923 5336 4,105 4,933
pypE= FAEHK 94 108 126 132 156 155
DHBHA T AR 2 1,091 1,315 1,439 1,386 1,389 1,505
YE S FRAER 248 297 340 351 391 391
DHHA FI AR R 2,570 3,081 3,647 4,063 4,166 4,699
fEED FIFRER 31 32 29 29 31 27
HHRE il FIBS R 5 289 305 293 360 397 465
a5t FIRAEH 660 754 811 829 862 833
T AR 2 8,663 9,620 10,302 11,145 10,057 11,602
@ BEFEMNE
ETER) BE 2o | 205K | 0K | xeE | 2E | THSEE
BikfEE FAER 57 75 97 99 56 107
DHBHA T AR EI % 3,468 4,289 4916 5,150 4,942 5516
HpypE= FIRAEHR 1 2 2 2 2 2
DHBHA 1| FES R % T 221 229 88 81 146
yE = FREH 0 1 3 3 3 2
DHBHA | FR BSR4 0 25 04 75 67 72
ot FREH 58 78 102 104 61 111
| PR A1 8 3,479 4,535 5,239 5,313 5,090 5,734
Q@ 1I8NEE
— -~ nE® | 2068 | 05E | mE® | 2mm | THoiE
HppE= FAER 0 0 3 5 4 4
DHBHA i FES R 5% 0 0 79 132 68 91
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ETER HE 2ok | 206K | somE | mem | omm | PASE
BikfE=E FIREH 113 114 114 108 113 87
DHHA il FI BSR4 2213 2,384 2315 2267] 2,206 2273
=D FIREH 0 0 0 0 0 0
HHRE il FI BS54 0 0 0 0 0 0
&%t FREH 113 114 114 108 113 87
F A RFRE# 2,213 2,384 2,315 2,267 2,206 2,273
(2) BHEaRY—EXR
@D HENE

BETER) BE uEE | 295K | S0FE | xAE | 2FE | PAOT
BikEE FIREH 155 168 196 205 192 168
DHBDA FABHK 2,373 2,493 2,751 2,894 2,670 2,683
spgREE FIRER 287 302 312 319 329 315
DHDHA I B % 5,520 5,804 5,947 6,101 6,044 6,135
yEmpEE FIRER 15 17 29 49 56 69
DHBHA AR 186 213 330 548 773 877
ot FREH 457 487 537 573 577 552
FABHK 8,079 8,510 9,028 9,543 9,487 9,695

@ BirilliE (eeslile « B35
RETER HH wEE | 205K | 0FE | xeE | 2Fm | THSE
BikEE FRAER 2 2 0 1 2 1
DHBHA FIFI B % 31 28 0 15 18 22
MpypE= FRAER 9 6 5 6 8 8
DHBHA AR 161 104 84 109 155 135
yEmEE FIRAEHR 14 33 31 25 21 26
DHBHA FIF A% 190 420 400 290 194 239
a5t FAREH 25 41 36 32 31 35
AR 382 552 484 414 367 396
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ETER HE 20k | 206K | somm | wem | omm | PASE
BikREE FIREH 4 6 4 3 3 4
DHBHA FIF A% 7 112 78 51 49 81
spypE= FIREH 26 31 21 22 20 22
DHHA FABH 478 601 389 389 389 520
Y s = FIREH 24 32 34 33 38 34
DHBHA I 1=E 346 480 522 502 600 552
&%t FREH 54 69 59 58 61 60
FABH 895 1,193 989 942 1,038 1,153
@ ShHRTSE (AR
= HE 2ofE | 20%E | somE | wem | omm | PASE
BikpE=E FIRER 7 11 11 10 10 11
DHBHA IR A% 119 184 191 189 196 232
MpypE= FAER 24 28 30 31 35 38
DHBDA | F B % 480 537 579 605 690 760
Y [ FREH 14 21 25 31 31 39
DHBHA AR 223 338 426 527 545 705
o FREH 45 60 66 72 76 88
FABM 822 1,059 1,196 1,321 1,431 1,697
© mokE (BED
= 5E 20k | 20%E | soFE | mem | o%m | TASE
BikEE FRAER 43 54 58 70 67 72
DHBHA FIFI B % 712 852 925 1,103 1,077 1,168
HppEE FAER 212 230 256 271 288 316
DHBHA AR 3,846 4,287 4,762 4,981 5,364 6,262
yEmEE FIRAEHR 140 169 203 231 251 276
DHBHA FIAB% 1,808 2319 2735 3162| 3,598 4,176
a5t FAREH 395 453 517 572 606 664
AR 6,366 7,458 8,422 9,246 10,039 11,606
©® MHTEERE (EHRIOFEXIDFIRSEZH)
ETER A 2ok | 206K | sowE | mem | omm | PASE
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fE=5E Al IEH 284 E 294 E 30EE TEE 25 ;E'I'Eﬁﬁ
BikREE FIRAEZE# 18 21 26 29 25 21
DHH AN FIFE A &% 95 109 148 199 122 121
= FIEEH 44 46 46 46 56 42
DHH AN FIFE A% 377 395 379 370 382 295
yEmpE = FIRAEZEH 1 1 1 3 10 2
DHDAN FIFE B % 3 40 15 20 19 24
BEE D FIFAEH 7 6 5 4 7 2
HORE FIFBE% 40 36 31 7 18 6
st FIEEX 70 74 78 82 98 67
=" FIRBH 515 580 573 596 541 446
BEENE
= =| By 284 FE 205 30ERE TEE 25 ;EJFE{E
FAEHN A 24 24 26 27 25 25
(3) BERY—EX
@ TIL—Tih—A
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=R Bifi 2BEE | 20FE | W0FE | mEE | 2R | Slon
BREE
DDA A 14 17 19 20 23 27
HMEpEE
DDA A 96 102 108 119 130 140
EHEE
DDA A 25 27 31 38 47 44
=1 A 135 146 158 177 200 211
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=B o 20k | 206K | somm | mem | omm | PASE
BHRESE
DHBAN A 48 47 48 49 48 51
%g%% A 101 101 91 95 93 92
fEHEE
g A 1 2 2 2 2 2
&t A 150 150 141 146 143 145
Q@ BiATERN (EXS3O0OFEEXDHIREE)
EEER By ofE | 20%E | somE | wem | omm | PASE
BIKEE _ _
i A 0 1 0 1
MBPEE _ _
e A 1 1 1 1
RBHES _ _
g A 1 3 4 1
aEt A — - 2 5 5 3
(4) RBBICEAITD IREY—EX
@ REBFZEZIE
rEETE HE 20k | 20%E | soFE | mem | omm | TASE
= FIAEH 93 116 139 163 153 188
HORE I B % 431 991 1.384 1692 1,652 2,154
Q@ EERREFIERIE
=B EE 2ok | 206K | sowE | wem | omm | PASE
. =5 25 25 23 21 13 20
HhHRE I B % 318 306 286 284 195 277




Q@ MEBETIU-—ER

PEEER I5H 284 204 304EFE TERE 25 ;EJFEE

BEED FIFRE 300 372 417 457 483 557
HhHRE I B % 3,281 4,263 5,226 5717| 6,499 7,642
@ REMESSEXE (1 QB0 OE)

IEH By 284 FE 205 30 TERE 25 géﬂ?ﬂﬂ‘ﬂ
il EIE @] 3 5 11 27 28 47
O [EBRETEEiE

==Riva R [EF R — 3 A*[BE
IEE ﬂﬁL 2855'51-; ZQEEZ 30351-; Eﬂirx_ 2$§ ;E'i'@ﬁﬁ
FREH A 67 74 69 74 74 76
(5) BEEE (U—EXFNBESTEEKE)
@ EtEMESE
pEEER -Eiv2 AH3E
[ e [ - e M
28¢E ZQEJ; 30¢E J'I:fﬂ; 2$E EE‘I’E“E
BREE
YN A 79 78 72 81 84 74
HMAEE
DHE N A 122 126 126 130 147 149
EHES
5&6A A 122 125 129 139 144 130
%Bﬁé%i%% A 2 1 1 0 1 |
=1 A 325 330 328 350 376 354
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